[ number of missing inner layers | [ number of missing outer layers |

1e Entries 9163 1e - - —| Entries 9163
E Mean 0.08447 E : : + | Mean 1.589
r Std Dev 0.351 N Std Dev 2.422
o = : : 1 A S .. :
107 Entries 9163 107E *TEnties 9163
F Mean 0.08436 F Mean 1.59
N Std Dev 0.3499 N Std Dev 2.423
102 i 1072 :
3 -3
10k 10k
107 . 107 .
F Entries 9163 F Entries 9163
L . Mean 0.08425 L . . . Mean 1.589
-5 +. . Std Dev 0.3498 5L . ....... e [ +. . Std Dev 2.422
T b b b by M B
r H H H H -4 H H
10 15 20 25
= 20 — — —| Entries 9163
" E Mean 13.39
> 18 C Std Dev
A r: 0
2 16 N
c L.
v
10%E
10k
1=
Y, S U U P P P o suof |
IS TTTTTTTL AT ——T] TT: gt
@ TR GO e Iy LT
) A 1 . i 14 -T4brd E R R SREE
|| ||]|:||| | :||||||||||=||||||I|||=|]||||||||ﬂ|||||| il H||
0.951 : : : ' : - 0.95
=3 -2 -1 0 1 2 3 0 5 10 15 20 25 30 35 40
track n track hits
Entries 13622 Entries 11824
Mean 2.203 Mean 2.375
Std Dev 6.395 Std Dev 6.277
H | H |
Entries 13622 Entries 11814
[Ts nd TS SRR, SIS Mean 2.203 Mean 2.377
E Std Dev 6.395 Std Dev 6.279
F H | H
[ Entries 13622 ntries 11817
-3 an 2.203 ean 2.376
10 E S v 6.395 vV 6.279
E | I
r Entrids Entrids 11817
" Mean ” Mean] [ 2.376
10 E Std Dek 10 E Std Def 6.279
: — 1 : : [
B Entries B Entries 11817
5 B Mean _5 B Mean 2.376
107°F Std Dev 107°F Std Dev 6.279
= T - T BT R
0109 0108, ;
= i = i :
@ 1 ¢ 1 B
@ @ ][
J—- ------ l- ‘ | [T| | |T| |
0.950 - s 0.950 . . : s
10 10 10 10 1 10 10 10

2
TP p. track p_



	Contents
	Page 1


